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Example Candidate Responses — Paper 3

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge AS & A Level Psychology 9990,
and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum
and assessment objectives.

In this booklet candidate responses have been chosen from June 2018 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

June 2018 Question Paper 32

June 2018 Paper 32 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support

Cambridge International AS & A Level Psychology 9990 4
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Example Candidate Responses — Paper 3

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response - high Examiner comments

Section A @ The wording of this particular
question means that just
Answer all questions in this section. answering ‘independent’ is correct.

Beware, however, because

‘independent’ means different

1 Inthe study by Canli et al. (brain scans and emotions), one variable was investigated by comparing things in different contexts in
neutral and negative scenes. psychology, so it is good practice

to use the whole term.

(a) Is this an independ r a dependent variable? Include a reason for your answer.
) w : . e e Neither the cc_)ncep_t that the
A XA TR RN I LN S Y. 8/ 0 A= A Ik R /% A7 s a0 O R/ A XV L -l indanandant variohln ie chonaod
e L LR AR N AT | : [1] Examiner comments are \
N\ alongside the answers. These |-
Answers are by real candidates in exam conditions. explain where and why marks
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of
the classroom to improve their skills. Cambridge exams so you can
help your learners to refine
their exam technique.

\_ /

How the candidate could have improved their answer

» Although both parts of this answer earned full marks, it would be good practice to get into the habit of always
specifying ‘independent variable’, as using just a single word could be insufficient in response to other questions.
Note that an ‘independent measures design’ would be another case where a single word answer of ‘independent’
may not be adequate.

» Operationalisation is a concept that often leads to confusion. The simplest way to answer such as question would
be to think ‘How could | manipulate (or measure) this in practice?’, then write a description.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

In part (a) a common mistake was to give the dependent variable in place of the independent variable. The difference
between these two variables is simply one of giving them the right names. One way to remember which is which is to
think ‘What is the researcher INvestigating?’ this is their INdependent variable. The dependent variable is exactly what
it says, changes in this variable depend on, i.e. are caused by, the manipulation of the independent variable.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.

5 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 3

Question 1

Example Candidate Response — high Examiner comments

Question  Part

1. | o) |ECT 15 o schizophrenta thexoupy which comghfules ng_| | @ 1 mark for electric shock

| elochvre._Shoths o e bran_in_order o creare SBZwel fae | | via the brain in order to create
patreud which_redasces Q\‘J,uxp}omns_%_&&h_\mphﬂ_ﬂ.l?as”&)(_.a___ seizure. Basic explanation of the
Shoct_peeea-0 pevtoclol_me. , term.

. :ﬂ G perod-ol e Mark for (a) = 1 out of 2
b) The Q\Ud% oed_VitHaal teald _’ilM;{XALhupm,\%_hadJﬂ_mw_a e Correct details from the

lr\ma&d_whnich_placad_ﬂ_\w.k_m,mIgal_&aaal_;lmaﬁm_{_cﬂz procedure of the study is given
v\dm%,a.&abwgq)_,_’cm_par_t\u,p,wi-;mog_m.mw fo weds. | | (headset and riding a subway).

Shroxot_in the vickuol reobdy |, posang m front d viiuad
M d\\a?duw\o The wmm&gmﬁmwﬁ_mm e Correct dgtai! of the proc_edure
, : , L of the study is given (recording

dmNnﬁ.kkL_e__mm..w\w aseh_weee Sweh on_ This mau looked

n g » comments).
at i k __ov_'mmdmg-m,\au_auﬁn_bmm_wm.ﬁg_
‘Po;v,hmpam_w_\!_{xmcd_ml.’(h_muub.c‘m_m.’(m_mm\_mai ‘_j @ Correct detail of the procedure
Ollowm —T‘)—(‘U“’MS5-“"—"——‘36"»“:l—"-{’—%1"1‘>L"-U3’5‘“a‘f‘i‘*—m‘m&w’-wjr of the study is given (assess level
went J5m o arhfroal toncomment ogving woe_msignt || of delusion).
M_MV_WAA_.._CCh&PMv)hvaU | Mark for (b) = 4 out of 4

Q| This ¥ Orocecuire wos_welrolble_os it odlemert oottt
mmmg.m_m_a.mb_,_wown _moestewdoadsed.
oapriaut ok Jons Xatiou e B voasables , e Moreorer, |
¥he vK_Sik_md_‘lso%hwqne_ln_mhxzch_]’l\g_mm.u\o.m%mLkA_
Com o2 weecl_over_oud o ogain_ce fhe slupbon omeuns
Fho_Sommo. Thg nCrecues _releabiliby Cu he _eeptriment can o
be mPeuMd_Wr_w_hme__u\_wﬁuakf_va ) Correct point about reliability
rm.nb/.uhg_m_kﬂmhrhw o) Tneveqults. (5] W'tg elxamp']f’ from the Stugyt

, - | | and clear reference is made to
"L‘Mf - W@“‘“Ymﬁh’“—dﬁﬂkf’% reliability and why this would
mught ke very high oo dpeudipaute Cou see pukpoi) | improve the reliability of the study.
o %O\‘H% n Socipd st _,__Q\Mﬂ.__ﬂAJ.AJ_JDLfLC_ howge 'y Mark for (c) = 4 out of 6
4 Rn Hral” re ockens O Ao commuusicade_ Yy thawhie o
M eorpermentty. Mocorer, the ecologieal e valel e | | Total mark awarded =
Compeyimiud satd b W \cevy Lo wineh mightregult o 9 out of 12

mmﬂk&_bané_ma:mpm&niahmam‘m%mmm(rﬁ_l

How the candidate could have improved their answer
(a) The candidate should have given additional information about electro-convulsive therapy such as the length of the
shock or the side of the brain the shock can be sent to (uni- or bi-lateral).

(c) The second point was related to validity and not reliability. The candidate should have explained that some of the
patients might have shown demand characteristics whereas others might not have shown demand characteristics, and
this would have had a negative effect on the standardisation of the procedure across all that used the virtual reality.

Cambridge International AS & A Level Psychology 9990 6



Example Candidate Responses — Paper 3

Example Candidate Response — middle Examiner comments

Question  Part

4 | a | Electvo-convul sive. +herchb: 1S afg  elecrical @ Reference has been made to
—H'\eraof} .Use elecvicod pulses o pvodutce | electric impulse that produces a
Sexi in brom ofthose (with schizopvenia. @ | seizure in the brain.
MMoM /(yé\;fsﬂ elechvic Srocks are qwe,rvlb fhe
oaxfhapmrv\’rs Loth our uge ot amPcthetic
medidne. drhas gerous side effects gsuch
as “memqu toss ovnd ewen deodh. Inctude . |
_gession, ) _gession pexr week Adiven dor 1omm | © Mark is awarded for length
potient 00«””5 (onsiousness after Bmin. (2] ' of seizure and also number of

j sessions typically given. This is a
: . : detailed definition of the term.
14 | b [Shdy by freemaon used virial reoJHu o ; Mark for (a) = 2 out of 2
asse‘)ss L‘.}summ@ms of scdhizophrenia ’Y‘ﬂ"s
| 8fudy (18S o Chedk thod penple with schizophienor
Coxperiomce e delusiors ord hadwelnations
| 1h-the read world ULJ'LL also pre,rpomce
them in U\Y‘No) vecuu—rq envivorment . Studly _ _
] +oot o\ace N Uhderq roor\d /(/Mqu/ me‘y\“a e T_he fc:andldate gives (;orrect
] \xberaru on_non- dlinteal population oF aroond gﬁ}g;o the procedure of the
900 @eople Participomt ok o oarle N '
| e déo \JKQJ\\JWOf\mer\Jr wWearmq: ahOQ&qgop ]

o The candidate gives correct

feguyt B The/ Mf@hwgfd/m also detail of the sample which is a

the oama Lot Smpered o a,ueghcn naire. part of the procedure of the study.

Rescds showed Yhad People. oo experiomc

delugions omd halluciations (indhe ceald © Reference has been made

uoevld adso _Q)(!)gm‘m ced @y themn in the v to further details (headgear and

ONVIYoTNent - - questionnaire) of the procedure of
the study.

Mark for (b) = 3 out of 4

1 | c | 8Wdy by Freemom usged o Loirly lorge .
! Somple Bic were. on non -clinical populadion.
Shudy has retevence. 4o O _everyday . Sife yirwal
reowmd Qgses Sympioros wh Com be used

7 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued Examiner comments

Question  Part

by_prachoners . 1o OSSe_Sg +he g&mp%«ng of
h\zomeh\a omgd Creafe Aherapes 4\0\' The

rotidusis S0y qise toor ool et for || @ T ntes omerein !
i Wham+g aﬁex thelr (ol in UR . | that does have some bearing on
enviromment _which increaise Yhe veul ab'mu il - | the reliability of the study.

hags the issue o cwtoral Bas Hecwmq Mark for (c) = 1 out of 6

| Volces ¢ seeing Yhings com be. novmdl Hrone |
CuAuve. bud \"\D\i'Jffof r\’\;eOThQrQ reSuus cormot be Total mark awarded =
qanerauge& More shudies Sroutd be conducted || 6 out of 12

P different 0reac do check the yeatiabilty.
Stody e condbicted 1 yndergrovnd woth
ccene in o Amove. ‘(‘Qca,l.AS‘i’lc/@h\Jl\(O‘ﬂ’\eﬂ+ \v\cxeogmq '

| \Jowdim

How the candidate could have improved their answer

(b) The candidate should have extended the final points made about the procedure of the study with more details of
the questionnaire given to the participants/patients.

(c) Most of this response related to the validity of the study. The candidate should have linked some of their points to
reliability such as stating that the situation may have seemed real for some of the participants but not to others which
would lower the reliability of the procedure as it would not be assessing symptoms of schizophrenia consistently.
Issues such as cultural bias and practical applications were not relevant to reliability.

Cambridge International AS & A Level Psychology 9990 8
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Example Candidate Response — low Examiner comments

Question  -Part

100 ) . 7 ) ’

L | ay | ‘Cleche ’C""V“;“’e .J‘M""’b e:; AEE SRR \“’”f’”"* o] 0 @ current on for one second is

. oesecond o pamed ugh pabiont bein WP || awarded 1 mark. This is a basic

- , : ‘ | explanation of the term.

. Mark for (a) = 1 out of 2

9) Patiens  weve prlako  uith/ad —ceolQby  in o veuter 2 |

Shouabon whore  euemfnins  weas  contelied _accordtegle, e The candidate identifies some
3 features of the procedure (such as

the avatar and ‘neutral’ situation).

No clear details have been given.

e _ausbne _ the  over oux Gincvomumb _aud expEuce.
t ’fzms (u) (~Micin Thom slou/a EE@QIA a_J:.._

t Knows herd- 'f‘r\a«;\oxei T %m«,hwx ; Mark for (b) =1 outof4
(,») z—ﬁha H\H'!:) A\/EL Ihis F?ncpé{d{? Pa) hign l an
according b epcin . 'ﬂaﬁ{ev@ the  averaid
Lose. ovnd___ Grirvinmeent m/g viehva £ - cea ity e The candidate gives basic
m?' . - % S 1| reference to reliability by stating
Sfamne ot Sct ‘| that the environment was ‘set’
g‘ acicsdog - du e o bend Tros,  wor which implies that the environment

emlzns(mf t  Vanow SHoalovn  in /P and remained constant for each
('Lz.o/mc{mc on o _aed  puhin  The gtenh || patient/participant.

/l/ﬁ'(- QN Out “Fhe Yeseove hey 2vx h \KMO:M ; Mark for (C) =1outof 6

e bt ser Size ~Gand ctnet kel a,’p '

R fosure. % leda T Socin { W‘W"fﬁ i Total mark awarded =

1 vadoss  different  padeinds || 3outof12

How the candidate could have improved their answer

(a) A basic explanation was given. To improve, the candidate should have mentioned that the electrical current
produces a seizure in the patient’s brain.

(b) A basic description of the procedure was given. To improve, specific features of the procedure should have been
given such as the underground train, measures of paranoia, details of the actions of the avatars and 200 non-clinical
members of the general population.

(c) The candidate could have improved their response by defining what was meant by reliability and give some
examples from the study that might improve or decrease its reliability. Examples could include in what ways the
procedure was standardised for all participants (e.g. the same virtual reality environment) and in what ways the
procedure might have been inconsistent. For example, some participants may have felt the environment was very fake
and did not engage with it while others may have felt it was very realistic. Therefore, the measure would have been
experienced in different ways by the participants. Reference could have also been made to the self-reports used in the
study being the same for all participants.

Common mistakes candidates made in this question

(a) Some responses were brief and simply explained that ECT is an electrical shock that is given into the brain of the
patient which induces a seizure. Very few candidates mentioned anything additional such as the length of the shock or
that it can be done uni- or bi-laterally.

(b) Responses were sometimes brief with just a few details of the study such as the virtual reality headset and the
virtual reality environment of the subway.

(c) There was lack of understanding of reliability as the consistency of the measuring device. Many discussed issues
around validity rather than reliability such as demand characteristics and ecological validity. These issues could have
been related to reliability but very few candidates were able to do this.

9 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 3

Question 2

Example Candidate Response — high Examiner comments

LRI OID_?M trg Thoct Mg ferm, |
e Zﬁe mv‘yr)’l/‘o@i@(dw In_Srollvidali
Y gmw caisied. outs to Irwestiopn. e effect '
epidn Bn %fmuw/ mdfwm&%

16 _rveek poused e oo i __.MMQQ.(#W O?W@-_-,
g‘* b ol poka s ,ﬂgu?; ke W af o Some details of the study
have been given with the correct

% WM EWM@ i biochemical treatment as well as

5 M/&_Qré % an indication of the results.

wwfnfl/ 0%%(@«,{ e z\/,dh w\%(:aaze,_ y
~Aidu, . Coverls cengstizadion 7< pre. e W‘ﬂwd»
%@q_j}-&_bms_@f mz%_}g
%M__S p2ired it e }pem#ul Lebouvions, ﬁ‘o
- Aeake, P ksi rausen ord_yrflive, Tle. fmu_‘fa/n}
; ka/mw_aé?ﬁsld_fo ot o Do EeSaistnt, pmol,
. ?bﬁg@*] g!. i VoIt ove _padred inflk e |
7}H>M,Me b@lﬁmm po Dt oo resd Zose. Ze. pofent |
) 7(Azb_o;¢4£G_fD . "':“M‘@f“ ?Wlb;iﬁw WM ' e The candidate gives clear
* ’;; —k@?z LWMA@“ ' details of covert sensitisation
aA 1"51 b/Me 77\1[ mmdme/wﬁ—( conted put; 6)\&/ treatment.
Sl %EMW vho Wﬁdwfjsnmf ool rass
dhealirg e@#ﬁﬁcmmd/nfém p@@%
|_exen ﬂou/éﬁ__w%e_oéc%’f' foue, W»f ﬁ)a-,mm |
-;%-e,}md remgtzgdmmﬁukdmms "ot softn
. P&W@«wﬂ ¢ %Ww%-_%__mmwj_f
wsed Ay @m)—m bebowiond ndf\ Pomea prodte. trealsd
- ks deodis erd_cho Jnuwﬂ rmue: eosser fo cruaon || @) Details of the study have been
il N‘U\ ??)—Jau oehivifid M7>~ mu e H»&d %,_@@75@_9 given with some indication of how
) the treatment was done and the
; ’ 00 ferdy y@ﬁm\# @; , prace: ! . pbadk ¥ ; effect on the woman at the end of
| relatg _beehriguer it oud Ter ke 7y | the study.
4 rba\q‘k&b__‘l.hﬁgf);é___ Wikey Ty e Mn Dot cauty |
| Pre ?Mbéfue Wﬂz_{_é.ymm 2001 el Tdem
bk sut a4 Ter o Podl |
v mw&@w
e s ’(ﬂl»u@t#m % sois G youhlip e iat|
e Ly Hcdéu__,___ik_}w J L_n%_ UL
. 1

’
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Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments

Question  PRart

L e MMM— ~ 4| | @ The candidate gives details of
Ygat M J, 1 ic | e _1”3_ : imaginal desensitisation.
=s Yoted o MMM_MMW (hrcobrend,
771’, .);dm St p///w_ o fperions% 500,
‘ WJEI_MM é%«ee/\ﬂe.mm
. wd /npoh&/\k by e fome. m,/xu{bam WW/
M’m’&‘ B oneh. Hetnigpe Dot 1o be. tecl, b © The candidate gives brief
o reliee o3 Wk! W‘\ N/ﬁ#ﬁw‘—:’"v{ PP | details of impulse control therapy
M and cognitive behavioural therapy.
by e éﬁw M Mark for (a) = 7 out of 8
| . 1 /Me_%ww m-d/f%d{/sdei( o -
oy , otwj%éf e putible Ao : eThe candidate gives accurate
R fnpeians eratstonof o eaiment
“»A)—eLnj( WW”‘*‘@}C—M P— | representativeness of the sample
}bﬁ%u W(’W 2L e /Ahdf ﬁ% y o b and the effect of the control group
; 3 A&&du. WL 7.7 ccq‘l»e_wd on validity.
| AedigdAy, wm4‘7’7/ ressnte e digoiolel % Loved-
; | Cunstrzodion Wmm«&oéodu mawm@_'
L towds ek cithied ok on ore. pnssy
S lmﬂa e _AMpusorbiiery atm, smwgmm%

wjﬁf% e s

: J(Mnf *ﬂzcgjée&xmux&_.&%*m Aot
/2 st Ol en iE (o s e (opd Thed= Ies
:Wmi&&da D/mzw(z il veret pe e |

i -
- o Gludy. M_&fpﬂm:_ __.@._ab__._ et |
BV Axgatrent potbed 47 re Mf "
Low (e, ) wqu/k reMagey ___'- @ Many evaluation points
Ovel e Hpodnent. De. dndy //\/(/14, 28 (Cd/—w»«u, are raised regarding covert
Lirtith, coudd. Imaet “M/“«Mm/' Ak 4;.,4_ DB~ w&(a@c sensitisation and each one is

Dortanesed opreld o ettt nAl Ao 2o CocimtoAdoprdi accurate. There is some use of
I b S ' e = é appropriate terminology but these

are brief with no analysis.
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Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments

Question  Part

I w.__,_p(/_mohwm WA Ndo /*NXLeé~_9;f4?"f))\‘

e Reference has been made to
named issue in the question.

9 A number of evaluation points
have been made about imagery
desensitisation. Each is brief but
accurate with some appropriate
terminology used.

@ Accurate evaluation point
regarding impulse control therapy.

: oﬂ-d M‘r\ wwm i ik Mﬁ{w&:&
:7}-(‘ ;MM&/ MYJLMW Con bo. med/_ﬁw_'dii%’

‘M %%o&cf/amm %ﬂﬂb&rﬁ{ m‘f
WOW /ze rrede MW%%WWLM

| hough F #&;%@m_@é&tw m The candidate makes

oo Te I/\Mf! o BtelsSen_ollicituy WC@W‘"‘% references to the named issue in
|72 olis®liy a% %—ﬁv(/ﬂf fires (LB _Con /-@@ (r;w the question and makes points
/n-er%a 71(; Mur/&u /,r// o e W,#w % regarding a number of different
,,.Ja oo be ender o ehpete fesh Andoles el | | treatments and the application of
end- fretn Foelu. U Q .. these treatments to everyday life.

Mark for (b) = 6 out of 10

Total mark awarded =
13 out of 18

How the candidate could have improved their answer

(a) The candidate should have selected fewer treatments and done one or two in more depth. For example, more
information could have been given at the start on the Grant et al. study with details of the procedure, sample and
specific findings.

(b) The candidate should have restructured their response and discussed three or four issues rather than evaluating
each treatment in turn. The answer should have been started with the named issue of application to everyday life
and evaluated two or three of the treatments described in part (a). The candidate also needed to provide some
analysis. This could have been done by considering the counter-argument for the issue they had raised. For example
if the candidate had argued the treatment had good applications to everyday life, they could also state why it might
have been difficult to apply to everyday life or they could discuss the issues the psychologists could have with trying
to achieve practical applications (e.g. the research could be very realistic and could therefore cause harm to the
participant).
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Example Candidate Response — middle Examiner comments

9 | a | Treatwment for impulse contvol disorder omd non
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oLt dne benaviovr the 5\(9u3\q f\f\e\nd\u\wcii
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The candidate identifies
biochemical treatments.

> I

4 A eThe candidate gives some
73:)@/ huL?anhceb +ge pexsons iu%go Q)O)(O\J:O’h correct details of impulse control
s S QL be deme. im covinued 1 therapy and cognitive therapy.
A case. SfUd»U\Oﬁa pexson with Qormbling Mark for (a) = 4 out of 8

‘Aigoyder o< Yeported tonm nder oontthe l
| Coqmﬂve therapuy ecsion . Reporiad in Ovminigh|

J ot~ Sympioms. = Y @

13 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued

Examiner comments

Question

Part

2

(b)

%\ochewmcnj '\YQo:h‘{\er\‘r q%r ’hfecuhﬂq the,
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e The candidate makes reference
to named issue in the question.

0 This is basic evaluation point
regarding individual differences.

@ The candidate makes
reference to named issue in the
question.

9 The candidate gives accurate,
brief evaluation points regarding
covert sensitisation.

@ Brief evaluation points
regarding systematic
desensitisation.

@ Accurate evaluation point about
the problems with generalisability
of just using one participant in a
study.

Mark for (b) = 5 out of 10

Total mark awarded =
9 out of 18
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How the candidate could have improved their answer

(a) Brief details were given of a number of therapies and some mixing of therapies toward the end of the response.
To improve, the candidate should have given more lengthy details of two to four of the treatments given in the
specification. If just two were given, the case/research studies that gave evidence for the effectiveness of the
treatments should have also been discussed.

(b) The candidate should have restructured their response and discussed three or four issues rather than evaluating
each treatment in turn. The answer should have started with the named issue of application to everyday life and
evaluated two or three of the treatments described in part (a). Most of the evaluation points were very brief with

few examples to support their points and a limited use of terminology. More extended evaluation points could have
been made and as a result the candidate could have used fewer evaluation issues but discussed each in much

more depth. The candidate also needed to provide some analysis. This could have been done by either providing a
counter-argument or the problems psychologists might have been faced with when trying to create a study with a good
sample, a valid study or a practical study.
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Example Candidate Response — low Examiner comments
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e 0 Appropriate treatment has
been identified.

-
Question  Part
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B ‘ sdhermcce: . Yrese &soQert Con_ e severhad e The second appropriate
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c«xox&e&_hk_\_?mg\wimm&___s}ss\cw_q&,s;C et |

Mark for (a) = 1 out of 8
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| el con spe ~ 0 Ve poddecs secovest
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e » ‘\-'- S\ “‘g\mjﬁ%ﬂ &QVV\P(\Q)CIM
Cocesnlo s duzdess e ko be Lo Yo
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N RS A \f:l,.:zyc,x‘o\«,,\ o e(a%..\\éax_
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[LW-Q‘%Y e w“é{@i‘\_\\s s Qe wox || @) There is limited explanation of
&\f\m@g&__md&&n‘—‘sﬁ——f‘&@% *\‘\Qﬂ&&\\&ﬁ&—$h\'—\—, how therapy might help someone
i-ﬂ\l\r\e 2 S o e QO - [

S

' . e Lignghomns oovs with obsessive-compulsive

Seen M‘”_M\K_:.&é&;ﬁ o pine Ao see Mo | disorder (OCD).

el an P el i Seada ' Mark for (b) = 1 out of 10
N B \ Q

N

Total mark awarded =
2 out of 18
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How the candidate could have improved their answer

(a) Alimited description was given for the two treatments identified by the candidate. To improve, the candidate should
have described the biochemical and cognitive-behavioural treatments for impulse control disorders and non-substance
addictive disorder. Candidates at this level could attempt to learn at least two of the appropriate treatments in less
detail and back up these descriptions with some examples of how the treatments might work in practice with these
disorders.

(b) One point was raised by this candidate that therapy could be effective for someone with OCD. In order to improve,
this candidate could focus on two evaluation issues in their response. A low mark candidate may be able to use
issues such as applications to everyday life and ethics in order to evaluate treatments of psychological disorders.

The candidate could give some examples of why these therapies might have applications. This candidate could have
explained why talking to someone each week might help the person who excessively hand washes. They could then
explain why having therapy might be unethical. For example, someone who excessively hand washes might feel
embarrassed about their behaviour and therefore would be unwilling to discuss this with a counsellor or feel very
uncomfortable when they do discuss it. To reach the mark band 5-6 the candidate needed to provide some analysis

in their response, for instance explaining that if the therapy was unethical and the patient was unable to discuss their
problem, this could have a negative impact on its effectiveness.

Common mistakes candidates made in this question

(a) Many responses achieved a lower mark due to giving either very brief answers or answers where the causes of
impulse control disorders and non-substance addiction disorders were given rather than the treatments. A number
of responses appeared unaware of what constituted a non-substance addiction disorder so there were descriptions
of treatments for alcoholism, which is a substance addiction. Another common error was to describe treatments for
phobias or schizophrenia.

(b) Most responses achieved in the level 2 mark band. The answers often did include reference to everyday life but
tended to be structured by going through each treatment in turn and were often quite repetitive in nature and very
brief for each issue mentioned. Many responses did not include any analysis and did not consider strengths and/or
weaknesses of the issue, provide any counterargument or a comparison between the different treatment techniques
in terms of the issue under discussion. Without this analysis, these answers could only achieve level 2 maximum.
For some responses where an incorrect treatment was described in part (a), the evaluation in part (b) could not be
credited as it did not address the question.
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Question 3

Example Candidate Response — high Examiner comments

Question  Part

3 s

A cogitive o (5o penhl @@mm‘mﬁw 0\9 Onel m\w\g(m\___
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0 Clear definition of cognitive
map.

e Clear link to retail environment.
Mark for (a) = 2 out of 2

e Details of the self-report and
the type of questions asked used
in the study.

e Types of self-reports used in
the study have been identified.

e Details of the self-reports used
in the study.
Mark for (b) = 4 out of 4

6 The candidate identifies and
hints at elaboration by stating that
it is reliable due to it being clearly
‘documented’.

0 The candidate identifies a
weakness and gives a brief
explanation.

e Very clear and detailed
example from the study that is
clearly linked to crowding.
Mark for (c) = 4 out of 6

Total mark awarded =
10 out of 12

How the candidate could have improved their answer

(c) The candidate’s explanation of self-reports’ weakness received full marks. To improve, the candidate needed

to include more elaboration of their strength. For example, the candidate could have explained that the majority of
the self-reports used, such as perceived crowding on an 8 point scale, collected quantitative data from fixed, closed
questions and these could be given to participants again to check for reliability of results.
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Example Candidate Response — middle Examiner comments
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Total mark awarded =
8 out of 12
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How the candidate could have improved their answer

(b) The candidate should have identified more of the self-reports used in the study such as satisfaction (rated on a 7
point scale), emotion (5 point scale) or prior expectations of crowding (7 point scale). The participants were also asked
to recall a recent shopping trip.

(c) The candidate needed to contextualise the weakness to be more specific to the Machleit et al. study. For
example, the candidate could give a brief example of the type of socially desirable response, which might be given
by a participant when asked about crowding in a retail environment. To improve, the candidate could contextualise
the comment about quantitative data or extend the point about being able to provide their own view (which was very
briefly contextualised).
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Example Candidate Response — low Examiner comments

Question  Part
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Total mark awarded =
3 out of 12
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How the candidate could have improved their answer

(a) The candidate should have provided an example of a cognitive map of a retail environment. For example, a
shopper will need to use their cognitive map in order to find the items that they want in a familiar shop.

(b) The candidate needed to describe the self-reports done in the study. In order to achieve 2 marks, the candidate
should have identified two of the topics the questionnaires used in the study were measuring (e.g. crowding and
satisfaction with a recent shopping trip).

(c) One strength and one weakness were identified. To achieve marks in a higher band, the candidate needed to
elaborate on both of these. Examples of both possible participant bias and the benefits of stating how you feel in the
Machleit et al. study would have achieved this.

Common mistakes candidates made in this question
(a) Afew candidates gave a definition of cognitive maps, but did not link their response to the retail environments.
Others gave an incorrect definition of the term.

(b) Many of the responses did not know any of the self-reports used in the Machleit et al. study and achieved no
marks. Some did know that the study used a questionnaire on crowding but could not give any other types of self-
reports used or any details of the self-report used to measure crowding.

(c) Most gave a generic strength and/or weakness of self-reports such as bias and the strengths and weaknesses of
quantitative data. Very few linked these points to the study or gave any explanation of the strength and/or weakness.
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Question 4

Example Candidate Response — high Examiner comments
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AonaDer J\.“,Qm \,\m\(\c‘d{p\ given with a brief, general result.
PN L;\CCI\_S \/zﬁ»\\\td\l‘w\ UJ\\\\ ) nnn\Acr
Yol ik \c\m_\\ LA "o \"ﬁ\f\\\f‘( Yo

Wee e \\UJ\ N hw) feil e \nem {"o
- calea c\M RSy weh A e de auke _

\»J\,-e)\w oy q;\f et Voaue o G\N(\@afr\—

olbcok am cntWilondZy  Lomaliily b
 Vicerd oy Yo | .\}L\b_g_\;(_\-éé\ '
a_ \ok .\(\k \\L AN\dren e

(omas Leer s\ Y\ e blo da: Dol av\\3
L\\\L\c)(cy\’s Carthronny e\e boub b
ccAaul\le a8  dlaacede e Sy Yoo
ad el baa t\”""\‘kcam“'ﬂ S Cop=d details of the study with a
VTN - o= e e cferd— | limited reference to advertising

Lai\y Lﬁz\ LR Oy Loy ¢ adt "\C\CJz)\ | techniques as the study used TV

e The candidate gives brief

N w\¢ (\L La—km NG ~Or {4 e) _ adverts.

- One cc_éé\)cf\‘\chA- \ﬁs\o\e \/\Qu L e

Do ;. ek b o (b actec | | @ The candidate links the study
r 7 ! T

1 | to advertising techniques.
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Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments

]l Suem ey ‘,_5 5_bvnr\3~_9(u_oa\dﬂe.3~_mm.€_¢_'
Ayralad o b Qoa aohad litbe, |
en~lnter=dh - N Noacler H\ow-\ e ‘
»L)\-og)kbé\ Y erte.. Mon ______k\_o(iml’) '
603<—_u\é\¢( _m__L%Q(@&Lnﬁ edthen
Ceallin . M el Vwae  Choradlecs
| zree Xao 5 o u»\/mu\\gtc ke et |
: \‘1.)\6.\ -\o%\’r\u c;l—g)\t\ke)\l\ \u«A ey )
o wroner Mocod . Creshians Eohes =
s awmd. Dol ﬂ\_d(‘l&)\ W& ot
g

\sséqef C%r_c_\- \'\;e:\ ;,JC\(EkA ‘alare (A
n\-ﬂrxk—\/g ‘\%5) La,\)( n~e,vv~n(\-€J n«\\\ Com |
Ve e CH AN col¥ars (A au)\\fe(\m\',\s “ °The candidate gives brief

SN} \ru« e r\o\t\—q,\%Lq c\(_égm| Llen % Q . details of the study with a link at
the end to advertising techniques.

Mark for (a) = 6 out of 8

9 o] e SMH ok FL\V\ \r\(-\xtzr\r( wiad
\«c\\«\u\ V@Lc@\,u\ -cu\- e wC«A _a_\aw
e,s(_(\&(kh-ex\\c-— o e\ n(ore:éu-ﬁ:) VvrelE
e dodized Cueh an ne legln of
B P2 SN VPR S . PR petlvepart—y o O | | © Thereis limited evaluation of
| tecdil ddnk - alftagiredt ol Ne reliability.
R R T\ P G \X— alyo  eah e  Da foe—r\‘ﬂ |
NN f(-'o( Conysenk (—a( e (_\f\_\'\)é\{\c/-\ ~ Vbe |
Qe U De \nedy . s be. VTN
= R o P (’l\W\‘Q’\)\ Cortwe o\ |
Detody  haccm wemd e Qaudiy ethicd
| \ovewer o (o gle e ,S— ANNCen |
" Ca e fC_le\\'J LSO ~ale ‘\’3/ i
P L X P W WS SGQ< GThe candidate gives a brief
B c\f\‘k&zr\ #rm\ e e v | evaluation of named issue.

= Sy Aol N e nwa\‘.aq\—,(< ko
Antldon 7o ooy - Codley,.
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Example Candidate Responses — Paper 3

Example Candidate Response - high, continued Examiner comments
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Comonc (_WSUNEn nm_\gﬂmg_\_w_
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S Tie S\WAM ol (edne Advey
Y D=0 2N waJ\ \/\\K\\\ e \rc‘J\LC&—d"J\ [=9,)
J
N V- S Lo\Q
fepac Yo e e perhieifentt! menatiy-
\F"Y\\C\-\ s 0N ~a % ﬂn[&r\. \/\Q/C \ PN
Nasyihbe atefre: Waware!  Na Whe
&f,\(- (cnn(\— Ao ey A.arw?\e\
-C,\Nan:‘_p\fm dyhes da ety nmhw‘M’l
e[l \N~M VoW e r-iua.\AcéL \-’\‘,\Q GJ-\’V\ o=
o EM% c:_A)\ ot Ueaare S entven.
M o oier  XNeGT »J)cu: Ce acial M\ro)\o\“d
bies ta O Laedey an werneipetn |
ISV Yowre, a.,aret_a\ i—a (eeimg 5%3_"
SRS \Mf B, ok Lo - mucedED
. CA LheLaru\(-n(wuo& o (- «v—au U.\c\\~ M____.: @Thecandidategivesthree,
l&_v\(\w\z_ekéw Q\L Ngi: {,,:,,QQ— ’;\l\~ L’*ﬁi———‘ limited evaluation points that are

bunda vy e LI T relevant to the study.
cyreatian . Mark for (b) = 6 out of 10

0 The candidate gives a
L | reasonable evaluation of
population validity.

Total mark awarded =
12 out of 18

How the candidate could have improved their answer

(a) The candidate could improve their response by describing the three bullet points given in the syllabus (advertising
media, marketing mix models and product placement in films) rather than two studies from the ‘advertising
applications’ topic. The candidate did describe the Auty and Lewis study briefly but this could have been done with
more elaboration of the procedure, specific results and a conclusion regarding the use of product placement as an
advertising technique.

(b) The candidate should have restructured their response to consider three or four evaluation points in turn, rather
than evaluating study by study. The candidate needed to begin with the named evaluation issue about the use of
children in psychological research as this could have helped the candidate to provide a more thorough discussion of
this issue. The candidate could have then evaluated reliability, validity and population validity which were the issues
used in the response. This could have provided an opportunity for analysis of each issue where the candidate could
provide a counterargument or compare the evaluation issue between two of the studies used.
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Example Candidate Response — middle Examiner comments

Question  Part

4 | a | Adverfising i< |
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. e Details of the Auty and Lewis
study have been described, but
this is limited.
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Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued Examiner comments

Question  Part

fawe a___lgp rofe 4 aaietimess 0'/
| -a ﬂ/’odéC/ Ma; Ve el 2
cebrty  H e adlevie e
a__ L pdbc! 1 el aubdaa
: ﬂ/(é?jf / W/l walz/ b oeye ma/
ucholt AP puolyt Beawe 1 G
advealed by 7 Sme _ape  we M
2 wao/a/ bas L e g Lw/e
o’ _ne oy /@wg
Ao %e/“ o7 %/oﬂ//
| poducd oo 01/ a
| Hpudted @/MOA procloc o
e o7 _obwd  poaart b
2o pblucsd The  comsumen. — know,
%/ 7 7@ /D)’a@&(/ as /767-/ eé‘d/%
pudaieil . o A2 ol

/ fawe f/ LIE I enn - o g, | o The candidate describes the
L , | | type of advertising.
Mark for (a) = 3 out of 8

S| b.| Keseantes _ae  otre 4, ool |
- 7{?4%//0(/@] abeod Mé:f /[/Qf/ =
| Sed  cve _ cordhetd ool
@%ﬂe//)nm?ﬁ. B A S </ /afm&/@/
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Example Candidate Responses — Paper 3

Example Candidate Response — middle, continued Examiner comments

Question  Part

Lean - condel Ao _yirbls o  AoS
he _ Spdlrg - ot prore el
0/@/ VQMﬁ A ﬁ@/wﬁ@f
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PKO/U/@Chf/\f/?Zi@éﬂ %(&% 607?— ﬁg/w/é . | has been given.
| e ol . J’c 2]
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| wseader s S bt ,é ?
| abrard .o m_q_,_ /_QM
et guen A |
| sl 7y wo/o/ Se o |
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W //;%m 4 | 2l 2 6 Named issue has been
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7 z2. : VAP with a comparison given between
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e // &u/ e/fm/%@g/ ole W
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Example Candidate Response — middle, continued Examiner comments

Question ™ Part

| wueré | W . Lo ACJ%B/’ ifo/m.o “G’\e »
| E/f@(ej‘gé //’7@ /7% a/l@&;%/c/ b o s
MUDrLS @ e (/L/&ég
che O] ol B i -
| cizame? YMJ W, /€JFQ/(/ :
: /lap/ Kvpr o boras VW{,\A} o @ Evaluation issue has

e 1[ wo—e N L Do been identified with a limited

e | . explanation.
2%/;/ lves P aitvg Al
7 fave ___f2zy chmty com e |
etdall, . St . [ can déﬁ
: ﬂu/ / m&m/@%/ e @ v
%x/ A/UWR ﬁ / /’%W Q//

, 7 o ' : e Named issue has been
% A’M ' G .| identified and reasonable
" | evaluation given.
Mark for (b) = 5 out of 10

Total mark awarded =
8 out of 18

How the candidate could have improved their answer

(a) The candidate should have given further details of the Auty and Lewis study, including the results and a
conclusion. The candidate needed also to omit most of the more ‘anecdotal’ parts of their response (e.g. celebrity
endorsements) and include details of the marketing mix models named in the syllabus.

(b) This candidate did do some reasonable evaluation for two of the studies. To improve, they should have evaluated
by issue rather than by study to enable them to give a more detailed evaluation with some analysis of the issues under
consideration. The candidate did give many details of the studies which were not relevant to this question. Instead, the
candidate should have altered these descriptions to further elaborate their evaluation points.
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Example Candidate Response — low Examiner comments

4 L) | Hduertng \Zhwiouts ool dypesef oduekdising eve |
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&,m’\’m"\ﬂ\\‘(& w\n\L\'\ 1 L\“ di H’Q\’ZV\'\‘ %-fM\sHA;a,

v - )
ppuTimEsts: @ | @ The candidate identifies the
" | types of advertising.
(o) | wne@f’— oduea A __ebae._b\ﬁ__q%mebﬂm‘@a Mark for (a) = 1 out of 8
| “—Y\Sc\o\s ‘f(}\rAn)' T S VS Py 2mdl

.,,\é AJAADIW, &td«wf MLy ynigme S.0ta ol ofesexdng . |
& rnornntie Shudy O W 3ty ?‘l)j \drxen OT P |
\_M.\r'; \orddma ! Mok o L DU Om o> mduckd Bg‘
wastlal A Mol v A Lo wqinud® Qeﬁilmfm’ Loy, 61
Qs rrivtudz—snddin Vois_omnd el -ﬁ%m\%a&’t w0
Q‘&QU&\W\HW‘V Ao e.v\m Qwv\ D%\v\a‘\‘ﬂé\ ou)\\w)\\’lged\ abou}™
\V\’\ﬁ\'Xk_A,\_anw\ ?&\a@o\a&t &?oloz\x'k wrile thevame | e No evaluation points are
‘g ‘]r)\wn ool g s _c\%ﬁ’_,__dh_\wd@___- made. Therefore, there is nothing

iy . . .
" G manmiom  Bmows oooen creditworthy in this response.
J SOV e s, Mark for (b) = 0 out of 10

Total mark awarded =
1 out of 18

How the candidate could have improved their answer

(a) The first paragraph did not answer the question. The candidate could have given some brief examples of the
advertising types identified in the second paragraph. They then needed to describe at least one of the marketing mix
models and the Auty and Lewis study.

(b) The candidate needed to evaluate the advertising techniques identified in part (a) of their response. They could
have discussed the effectiveness of the types of advertising raised in part (a). In addition, the candidate needed to
extend their part (a) in order to provide evidence to evaluate.

Common mistakes candidates made in this question

(a) Many responses achieved a lower mark due to giving either very brief or anecdotal responses that listed different
types of advertising. Some did go on to explain how this type of advertising works and why it might be effective but this
did not address the question directly. There were few descriptions of marketing mix models or product placement in
films (Auty and Lewis, 2004). A significant number of responses described information from other parts of the syllabus.
A number of these types of responses instead described how consumers make decisions when they decide to buy a
product and made no mention of the influence of advertising on these decisions.

(b) Most candidates provided brief evaluation and were limited in their discussion points as their part (a) of the
response was anecdotal or inappropriate to the question. Typically, the responses were structured by study rather than
by issue which made it more difficult to provide detailed points or any analysis of the issue under consideration.
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Question 5

Example Candidate Response — high Examiner comments

Question

Part
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ST Ode words Pk owe understwed By |

Oa\m\*& well _and ok vge caediR cal \cu('qcr\éc

”K‘N.o\ Uk __exade e \?J\QD_QS.‘.COS&S_M
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0 Biochemical test has been
identified.

e Here is the reason the test
shows non-adherence.
Mark for (a) = 2 out of 2

e The guideline is given.

o The reason for guideline is
stated.

e The guideline is given and the
reason for it identified.

Q Further reason is given for
the guideline to not use medical
jargon.

Mark for (b) = 4 out of 4
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Example Candidate Response - high, continued Examiner comments

Question  Part
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‘ [vecceare. salcfecte of Seecks fraoe Tderes | explained.

W Yo, Doeciores ard Meorefore Yon
agN\echions W C@LL&&%%ML:
D&\\eMs L ey e onoxe. dnkeormeMen
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o Swew Selsbeeheie o0 AisselsSechien cansed)
j By Mo . Sede used by YCecKTerok. Total mark awarded =

: : : 10 out of 12

How the candidate could have improved their answer

(c) For the strength, the candidate could have explained the final point in more depth, possibly with the use of an
example. To improve the weakness, the candidate should have stated that the guidelines were ‘somewhat reductionist’
as it was inaccurate to state they were only ‘reductionist’ as Ley gives a variety of different guidelines and suggests a
number of reasons these guidelines could be effective to improve adherence.
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Example Candidate Response — middle Examiner comments

Question  Part
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6 out of 12

How the candidate could have improved their answer

(a) The candidate needed to explain how a blood or urine sample might measure adherence.

(b) The candidate should have given a more detailed response for each guideline. This could be done with an
example or an explanation of why the guideline might help to improve patient adherence.

(c) For this response, the candidate needed to further elaborate on the strength. This could have been done by
explaining how using less medical jargon could lead to better understanding. The candidate could have used an
example to do this. For the weakness, the candidate should have focused on one weakness. They could have further
elaborated the first weakness, which was the stronger of the two, with an example of a patient taking the information
more seriously.
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Example Candidate Response — low

Question  Part
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Examiner comments

0 No biomedical test has been
identified.
Mark for (a) = 0 out of 2

e There is basic identification of
an appropriate guideline.
Mark for (b) = 1 out of 4

e A correct weakness is
identified.
Mark for (c) = 1 out of 6

Total mark awarded =
2 out of 12
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How the candidate could have improved their answer

(a) The candidate needed to identify a biochemical test and explain how this could identify if a patient adheres.

(b) The first paragraph given by the candidate, about the style of dress of the practitioner, is not one of Ley’s
guidelines and should have been removed. Instead, this candidate should have identified two of the guidelines given
by Ley (e.g. do not use medical jargon and emphasise key information to patients). The candidate could then achieve
in the 3—4 mark band by explaining why each guideline might have improved adherence.

(c) The weakness given by the candidate was unclear but also related to the study about style of clothing which is not
from Ley. The strength given was correct. Instead, the candidate could give an example of some medical advice that
might be easier to follow using Ley’s guidelines.

Common mistakes candidates made in this question

(a) Some candidates did not identify any appropriate biochemical test to measure adherence and few identified
a psychological test. Another common mistake was to not explain why the test could show levels of adherence in
patients.

(b) Many candidates made reference to practitioner style of dress/clothing which was not one of Ley’s guidelines. As
a result, many just gave one correct guideline. In addition, many responses were very brief where the guideline was
identified rather than explained.

(c) Further reference was often made to practitioner style of dress and none of these strengths and/or weaknesses
were creditworthy. Candidates found it difficult to write a band 5-6 mark response as their responses were often fairly
brief. Many just identified a strength and/or weakness with no elaboration.

Cambridge International AS & A Level Psychology 9990 34



Example Candidate Responses — Paper 3

Question 6

Example Candidate Response — high Examiner comments
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e The candidate gives a detailed
description of the study.

e The candidate gives
appropriate details of a treatment
given.
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Examiner comments

Example Candidate Response - high, continued
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6 A clear and detailed description
of this study is given.

0 Details of stress inoculation
therapy.

Mark for (a) = 8 out of 8

e Usefulness is identified and is
briefly explained.

Q This an appropriate evaluation
issue but has been explained in a
limited/confusing manner.
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Example Candidate Response - high, continued

Examiner comments

Question
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@ Analysis given with the use of
the word ‘however’, but it is very
limited.

m Named evaluation issue
addressed with some analysis
given at the start.

@ A number of evaluation issues
have been identified, but a basic
explanation has been given for
some.

@ Named evaluation issue of
ethics has been addressed in a
limited way.

Mark for (b) = 6 out of 10

Total mark awarded =
14 out of 18

How the candidate could have improved their answer

(b) This candidate could restructure their response to evaluate issue by issue rather than by treatment. This would
have enabled the candidate to give more details and elaboration of each evaluation issue as well as to provide

some analysis. The candidate could start each issue by explaining why this issue was important to the treatment of
stress. Candidates should avoid making similar statements for each treatment as this is repetitive and would not be
considered good evaluation.
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Example Candidate Response — middle Examiner comments
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N\mx‘\”‘ T W Fopeerallu (CBT) but gives some basic detail

of how this treatment might work.
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Example Candidate Response — middle, continued

Examiner comments
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e Imagery has been identified but
very brief details of the study have
been given.

o Treatment is described
although not identified.
Mark for (a) = 4 out of 8

e Three evaluation points are
identified with a basic description
given of each.
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Example Candidate Response — middle, continued Examiner comments

Question  Part
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Total mark awarded =
9 out of 18

How the candidate could have improved their answer

(a) The first paragraph described the causes of stress rather than a treatment. The candidate could extend their
description of drug therapy as well as describing a study that shows whether drug therapy is effective in treating
stress. The description of CBT was unclear and an example of how this might work with a person who is stressed
would have improved this response. Imagery could also be extended with an example or further details of the study.
The final treatment appeared to be counselling. This could be extended with direct reference to stress.

(b) As this candidate included a number of treatments, they would have improved their response as well as the time

management of the paper by describing three treatments in more depth with clear details of one or two studies that
show how these treatments could be effective.

The response should have evaluated issue by issue rather than study by study as they have done. They should have
started with, ethics as this was the named issue and given some examples from treatments that highlighted how the
treatment might be considered ethical, and also why it might not be considered ethical. This would have enabled them

to show analysis in their response. Reductionism and validity could be their other two issues as these were addressed
in their response in a limited way.
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Example Candidate Response — low Examiner comments
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Mark for (a) = 1 out of 8
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Example Candidate Response - low, continued Examiner comments
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N A CvesleAT o\ tewel i TR

Sea Mlua e b OCoen Feoare S Acord

Lok (tenmkerhed\_\enued _dehhs  Shteey \evel.

Mr \ert  eeedad s b e eey e e Kool

in wdnieh Qeddlen e\ Ilesa o Dee
o\l 4o chlee  Mare ML on.en  anrnd
el M iv  vnoc clen m¢3c$—1-a koo

_p2ed cede checl by & 1 Cn and ’\L‘U wierle
ol A (wv‘-ﬁ\'(\p a Al X 2 Wil Ve
ESWN TR S-S Ccedoce e remgian in
frne  woccten  avncd —HJG covled See
Crcec, Newed  apvess  alservss R4 AL E e Basic explanation of how
Mo __CoONA ro»:JNO\)\ Nlv  ckcew Utave/l. ima!gery C‘?‘“d be useful to
P patients with stress.
ar ' gade. o anefad v w DUl Mﬁ
Veed TrARS MY Cawv  csuce  daneade

AD \oCadn L cedse X0 Nece hg PR

Deete Bh A \xelen vneapiie om  =2¢ clawz)
lnowd  woled  \aca~ M«L&«\&Hc e gt e Ala

lan__Cralte Y2 LCoa LA_!&LJ\NO\’H\AS QLoc.e
’«_.AJ ey e dzfc;eﬁ&jiié_é_agoﬁt__*&__é&_?ﬂw'_
wi Vs chenlcel nve Rodive A w&ca‘\)r
e tovt _Nnon o ol eren b koo denen k
Wl o, Can Cense Yo 3\skoud enad coasn . .
Vo, temed ol Shcem  tewel o el SN eApotgntlaI problem ?""tha .
k@fok e At s e oot o tton blochgmlcal treatment is given in
a basic way.
'@\L\Qo,—tvvoa—ﬁ\ RasinlciQen®  oncie a:\m skesad | | Mark for (b) = 2 out of 10
S ik 00\ \ewe  cene ana gerfoud
odaple  an ool Lei\:ﬁ—i— Lo nn Pesticiged| | Total mark awarded =
W oD2elh v madh efilealia Boa A 3 out of 18
Mece cond Lo oorokansd  Vnbed Overa noall g
Rorms \eosRme  ich 186 aMe ex anm
edced  s29er  Mic (an b opRodhe  coed s

Question  Part

Wehead o b loev ecioy ChcexnNevd |, onceid \enel

Sorg
ol b WereeAe SAN dmoi b Can __dive 499
N i) iz 3§
“V\Q\&‘%&J fle ke voo.

Cambridge International AS & A Level Psychology 9990 42



Example Candidate Responses — Paper 3

How the candidate could have improved their answer

(a) Two treatments were given in this response. The first treatment should have been extended with examples of
drugs that a patient with high stress levels might take. This description could then be extended with a study showing
the effectiveness of drug therapy. Secondly, imagery needed to be identified and a clear and detailed description of
this treatment should have been given. The study by Bridge could then be described by the candidate.

(b) fMRI was not an appropriate treatment for stress and measures of saliva was a measure rather than a treatment.
The evaluation points given (ethics and effectiveness) would have been better structured as two separate paragraphs.
The candidate could have evaluated the ethics of both treatments given as well as discussing why it might be
necessary to break some ethical guidelines in order to help the patient.

Common mistakes candidates made in this question

(a) A number of candidates gave very long descriptions of definitions and causes of stress which were not awarded
marks. Some then described four or five different treatments. These were often just identified with a very brief
description given for each treatment. These responses were considered to be limited. Details of the studies used were
often absent with vague reference to findings and/or conclusions.

(b) Weaker responses took each separate treatment described in (a) in turn, and evaluated it for a few issues.
Unfortunately this tended to mean that the evaluation lacked depth. A significant number of candidates did not answer
the question and instead simply wrote more about treatments, causes or explanations which were not creditworthy.
Many responses did not include any analysis and did not consider strengths and/or weaknesses of the issue, provide
any counterargument or a comparison between the different stress management techniques in terms of the issue
under discussion. Without this analysis, these answers could only achieve level 2 maximum.
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Question 7

Example Candidate Response — high Examiner comments
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Total mark awarded =
9 out of 12

How the candidate could have improved their answer

(b) The candidate should have given an example of one of the statements used in the Minnesota satisfaction
questionnaire.

(c) To improve the strength the candidate could describe how the two self-reports are similar, as both collect
quantitative data where the worker has a choice of more than two responses.
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Example Candidate Response — middle Examiner comments
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Total mark awarded =
6 out of 12
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How the candidate could have improved their answer

(a) The candidate could have identified either voluntary or involuntary absenteeism and either described this or gave
an example of either to improve their response. Alternatively, the candidate could have described one of the following:
career enhancing absences, medical, normative absences or calculative absences.

(b) The candidate should have used the titles used in the Minnesota questionnaire for each scale such as ‘security’.
The candidate could also have given an example of one of the statements as well as the scale used to measure
satisfaction.

(c) To improve the similarity, the candidate should have described how the quantitative data was collected or how the
total scores were calculated in the two questionnaires. For the difference, the candidate could elaborate their response
further by explaining the purpose of the comparison group.
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Example Candidate Response — low Examiner comments

€ 955‘?\%0-\60\'@ O, _O@Q/\m‘sahmﬁ

N | O  Eoge  of oo dbseniees),
| Clis T \ouwlr /ao’ruov@r oA Lne
_ ujo‘r\%. S Mark for (a) = 0 out of 2

. M Q%M@eab@ .—%C) wodge |
2 olrafl ADnover becapio |
o . (oK okt Sccb%e@ou‘
| ikl /me,' "ob ‘ !

D[ MinngSeeal SCWS—G%L/GO\// Jpefiousg
CMSAN iS5 uSed  to mngva
f‘-‘.\ob Sabistachon. L < a

Al ok /e b

Tl RIS of onbas <

| as  Sansb-ed . viok  Sab$hed, higky
1Sabstyed o\ bm@\o@ S Ssativbed.

Question  Part

[upkbs are aZed o 30 A
il bl/v&S /i/_kﬁe/?)@u’)l/la’)/@ mmmalev

o Basic indication of the scale
used in the questionnaire.

.f o\ Pyvokdide  W2a3ae . Used Ko | | Markfor (b)=1outof 4
1] b Sabstartio, 1S e
N otvelppeiveyhs

; A gex
ToT) . J/ID’(; OGS Of
.O/uQXJo‘W a\vcul SﬂZﬁm GO Syjl
[ Yok Jnme  Co  wovlers aud |

UTeAwsS - dbok SWEVINSY &y . Tt
i3S L Oo GSELAN T\ wmegsue
Lo aDC, - & A22unt yYegue
auM| C@vwwcﬂze@c) g oot
LA VM@ w?bL& =0
\/\4_51\0?1’6‘/\

oD 'SW\\am‘m Mw@% |
L _MS e Quwd  _—Sote Y Euats |
L botdn QL. LNpep O j
| bCW-&ﬁ beve  Jota. qud

e, £Unll  of O/u@hwax

LR )

Sal qy\(/\ (//\AA(L /\436) SWQ eBothincorrectandnot

Y creditworthy.
I/LD C_Q\/I C,Q/Yb. ‘ ) !61/, .Sq @!%ﬂ Mark for (c) = 0 out of 6

Total mark awarded =
1 out of 12

47 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 3

How the candidate could have improved their answer

(a) The candidate could identify either voluntary or involuntary absenteeism and either describe this or give an
example of either to improve their response. Alternatively the candidate could have described one of the following:
career enhancing absences, medical, normative absences or calculative absences.

(b) The candidate should have used the wording of the scale from the Minnesota satisfaction questionnaire which was
a 5 point scale from ‘very dissatisfied’ to ‘very satisfied’. In addition, this candidate could identify the topics covered
and give an example of one of the statements used.

(c) The first paragraph was just a description of the job descriptive index and not a comparison point. As the
comparison points are incorrect, the candidate could have explained that the job descriptive index has 5 dimensions
whereas the Minnesota satisfaction questionnaire has 20. For the similarity the candidate could have discussed how
these two questionnaires could be useful to organisations in determining the satisfaction levels of their workers.

Common mistakes candidates made in this question

(a) Many candidates described lack of motivation as a type of job absenteeism. While this could be a reason for
absence it is not a type of absenteeism which is either voluntary, involuntary, career enhancing absences, medical,
normative absences or calculative absences. A number of responses just identified or gave very brief details of the
type of job absenteeism (e.g. illness) which achieved 1 mark.

(b) Some responses were very brief and often stated that the Minnesota satisfaction questionnaire measured worker
satisfaction. These responses did not give any specific details of the questionnaire.

(c) Some candidates described another questionnaire rather than giving a comparison point. Weaker responses that
did give a comparison point tended to be very brief with the point just identified rather than elaborated.
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Question 8

Example Candidate Response — high Examiner comments
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Example Candidate Response - high, continued Examiner comments
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Example Candidate Response - high, continued Examiner comments
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Example Candidate Response - high, continued

Examiner comments

Question

number  °

Write on both sides of the paper

Page

Lez]
biar

2Db) {aooac%— oy 3& ehom othes pecple nf

B VML F noh rﬂ?/ )ﬁr I
el Maeser o)u‘prdo&- ofWMom A oAl mzséw 7

Tere 3 ol enpup h (ese0uch o0 i €

ool rhdbiva tbols  whieh mison

f,L woudgl_npt be _ssy <. toble

to oy nn e Mlm@ocpelmy&

coudd Be  carrieol Noweso/ | o» Mg,

is oo oppticed concent Fiwe

Ve hafdd to e, cInt ok sy thune

Q%F@f\;nm{vgg COUL/Ld lack va lial: Q\t, ‘E

Thes e ﬁ/\@bms Ge o, Fo raraglue

scle o She” na luse av nurlue

olebadd on  cofteun Vaclors yn HO

s sfourals n0 F Hho  yoliv i oliady

Llre oedtid perol o7 besng ploices)

cod e e 16 Lo MDJ—| BZIE ®

*%w e g SoMeony wQ//c.‘/m 7/» a_crep dtve

%Ungnm_o/IJ oo oX be Imsre Motivodd)

by \9{ng el (QQ“J’QmJﬂ@h tatho

o ev apdarien

m Clear evaluation with an
example.

@ Analysis given as the response
shows that the candidate
understands the implications of
attempting to carry out a piece of
research on organisations in a lab
environment.

@ Correct point has been made
regarding nurture.
Mark for (b) = 7 out of 10

Total mark awarded =
14 out of 18

How the candidate could have improved their answer

(a) The candidate should have given more details of how some of the motivators mentioned might improve motivation
in a worker. The candidate did this on occasion in their response but they should have done it more frequently or given
more details of two.

(b) The candidate should have expanded each of their evaluation issues and possibly omitted the last point on nature
vs nurture as this was the weakest in their response. They could have explained the implications of reductionism in
more depth to provide further analysis in their answer.
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Example Candidate Response — middle Examiner comments
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How the candidate could have improved their answer

(a) This candidate could have improved the answer by linking their definition of intrinsic motivation to organisation and
giving some examples of what might cause this type of motivation (e.g. a desire to feel satisfied with one’s work). In
addition, the candidate could describe in more depth how the monetary and non-monetary rewards might lead to more
motivation at work.

(b) The candidate should have addressed at least one more evaluation issue and ideally two. The candidate could
consider individual differences as well as practical issues with motivating workers and the expense of monetary
rewards. No analysis was provided so the candidate needed to consider whether the evaluation points raised cause
any issues for organisations or if these issues were different for the different types of motivating factors described in
part (a).
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‘Question  Part

Example Candidate Responses — Paper 3

Examiner comments
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Example Candidate Response —
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Part

low, continued
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0 Basic link has been made to
motivation.

e Motivators have been
identified.

e Types of motivators used as an
example.

The candidate correctly
identifies intrinsic motivators.

6 Basic link to Maslow.
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Example Candidate Responses — Paper 3

Examiner comments
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e Basic evaluation with some
reference to generalisability.
Mark for (b) = 1 out of 10
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Example Candidate Response - low, continued
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Examiner comments

Total mark awarded =
4 out of 18
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How the candidate could have improved their answer

(a) The candidate should have given details of the three bullet points under the topic area of motivators at work.
To gain more marks the candidate should have explained how the desire to achieve further up Maslow’s hierarchy
of needs could motivate an employee. The candidate could then give an example of how this might happen in an
organisation.

(b) This candidate could have improved their response by omitting the descriptions of the further theories of
motivation (e.g. Vroom) as this did not answer the question. The candidate should have begun with a paragraph on
the named issue of reductionism and considered whether the theories and types of motivators described in part (a)
were reductionist or not. The candidate then should have evaluated the application to everyday life of motivators at
work and the issues faced by organisations when they try to motivate their staff.

Common mistakes candidates made in this question

(a) Many just focused on general definitions of intrinsic and extrinsic motivation with few, if any, examples from
organisations. Often monetary and non-monetary rewards were listed in the responses rather than described in any
depth or any elaboration given of how these rewards might lead to increased motivation.

(b) Candidate responses that were in the level 1 or level 2 mark band often made very brief points regarding a
number of evaluation issues that did not include any explanation or justification of the points raised by the candidates.
Some also included further descriptions of the motivators and/or theories of motivation at work which was not
creditworthy for this question. Most responses did not include any analysis and did not consider strengths and/or
weaknesses of the issue, provide any counterargument or a comparison between the different motivators in terms of
the issue under discussion. Without this analysis, these answers could only achieve level 2 maximum.
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